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1) Find the probability that it won’t rain, if the probability that it will rain is:
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3) Find the missing probabilities in the tables below:
a) Result Win | Lose [ Draw| d) Letter A|E | o|u| g Result Win | Lose | Draw
Probability| 0.3 | 0.4 | 0.3 Probability | 0.3 [0.2]0.1( 0.2 ]0.2 Probability | 0.25 | 0.18 |0.57
b)| Choice | A | B | ¢ | e Number [ 2|2 [3]| 4|5 ]| h| Resul A | B | C
Probability| 0.2 | 0.5 | 0.3 Probability | 0.1/ 0.3]0.4( 0.1 (0.1 Probability | 0.15 | 0.26 | 0.59
c) | Position 1st | 2nd | 3™ f) Colour Bl | grIRd| Pi | Yel 1) Result 1st | 2nd | 3™
Probability | 0.25 | 0.35 | 0.4 Probability | 0.4 | 0.1 (0.1] 0.2 0.2 Probability [ 0.43 [0.28] 0.29
i) Find the value of x in the table: —" T g (o] f—————
Probability | 2x | x [0.4] 3x i 0' 1
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4) Fill in the table to show the probability of taking each colour.
There are 16 counters in a bag which are either red, white, green, or blue.
* There are four times as many red balls as blue balls
* There are more white balls than red balls
* There are more green balls than white balls
* Aballis taken at random from the bag
Fill in the table to show the probability of taking each colour.
Colour Red White | Green | Blue
4 5 6 1
Probability — —_— R S
16 16 16 16
\ J

7
Exam question:

There are only red, white and blue balls in a box.

There are the same amount of blue balls as white balls.

Complete the table to show the probability

of choosing a ball at random from the box. Colour Red White | Blue

Probability| 0.64 | 0.16 |0.16




